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IIE sz EESIE Gads
B B WAL | 478
EEH FHE 481
3 E% 486
4L =1 487
531 BB 487
613 KHIE 488
751 AN 493
8{iL K5 496
9fsL =iRR 502
1043z AR 505
1143 T4 505
1241 EF 513
1343z MASIL 513
144z AR 1] 520
1543 ARZA 527
1643z Bt 530

[ FDER]

Il {iz CEXES !
B B 3N 439
B XHEEFE 4412
3L H i 4416
4f1 B 4454
5 EiRR 446.2
6z T4 4472
s AAESI 4478
8fiL EEa 4478
9L EH 4482
1043z LN 4498
1143 A 451.4
1241 ARET I 4518
134 B 454 .4
AFYRL HRZEER HEEE ouT 383 NN 35 GROSS 73
N o 1| JH4E ouT 35 IN 38 GROSS 73

iR ER8T OUT 36 IN 37 GROSS 73




X G M TN T R&E BB F o KEE
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& B FEAY MY =257 6,960 Yard Par 72

TOTAL | JBfiL | TOTAL| NET TOTAL | B | TOTAL | NET
AAIER =1
478 1 487 4 14416 3
K % OUT | IN |TOTAL |HDCP| NET K % OUT | IN |TOTAL |HDCP| NET
H OB & # 38 | 35 73 *| 1.2 |718 X B B == 36 | 41 77 *| 48 |722%*
B 3 42 | 37 79 *| 48 |742 mOoN =R @& 41 | 40 81 *| 48 |762
/8 # EFE = 39 | 40 79 *| 48 |74.2 X B B 40 | 42 82 *| 7.2 |748*
BOH IE OB 43 | 38 81 *| 96 |714 = || = 42 | 40 82 *| 84 |736*
b = JII B 8k a1 | 41 82 *| 6.0 |76.0 F B A 11 a1 | 41 82 *| 108 |71.2*
=2 % i 40 | 44 84 *| 10.8 |73.2 52 KB E #d 40 | 43 83 *| 84 |746*
= H#H EHE = 45 | M 8 | 96 |764 " A B o i 43 | 43 86 | 108 |75.2*
TOTAL | JBff | TOTAL | NET TOTAL | JEfZ | TOTAL | NET
=i i N
FHE FE;
481 2 487 5 14478| 8
K £ OUT| IN |TOTAL [HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
€ R K #E 40 | 39 79 *| 48 [742 g2 W & 1T 36 | 37 73 *| 24 |706*
& H L] 39 | 40 79 *| 6.0 |73.0 B 7 K # K B 41 | 36 77 *| 48 |722%
W @\ # B 42 | 37 79 *| 72 |71.8 g # EL 40 | 42 82 *| 6.0 |76.0*
£ I & ™ 42 | 39 81 *| 6.0 |750 52 # % Ik M | 42 83 *| 6.0 |77.0*
womEm - @8 40 | # 81 *| 6.0 |75.0 X B ¥ = 39 | 45 84 *| 72 |76.8*
T % B K 39 | 43 | 82*| 84 |736 X H i) 47 | 41 | 88*| 84 |796
W B xR 8A 46 | 44 90 | 20.4 |69.6 m B R M 46 | 46 92 | 16.8 |75.2*
TOTAL | JlEsf | TOTAL | NET TOTAL | EiL | TOTAL | NET
T KHEE
486 3 488 6 (4412 2
K % OUT | IN |TOTAL |HDCP| NET K 4 OUT| IN |TOTAL |HDCP| NET
& & JIE 38 | 38 76 *| 12 |748 OB O R 37 | 38 75 *| 24 |726%
B B & X 40 | 39 79 *| 48 |74.2 B W B, EA 41 | 35 76 *| 24 |73.6%
}F O ® =X 41 | 40 81 *| 6.0 |75.0 X B = jf 37 | 39 76 *| 48 |71.2%*
H B B & 40 | M 81 *| 84 |726 BB H B #H 43 | 40 83 *| 96 |734*
B zZ & A = 43 | 39 82 *| 48 |77.2 x W FE & 45 | 44 89 *| 13.2 |75.8*
A I & B 43 | 44 87 *| 9.6 |774 H IE 45 | 44 89 *| 144 |746*
= OB Of # 42 | 48 90 | 10.8 [79.2 /NN = 48 | 42 90 | 10.8 |79.2




X ®BhR gt TNV 7 RKRa % B F o0

s H: 2020411 H16H HIER
& B BB MY —257 6,960 Yard Par 72
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TOTAL | JBfL | TOTAL| NET TOTAL | JEfif | TOTAL | NET
EAR AR
493 7 14390 1 505 10 14498 10
K 4 OUT | IN |TOTAL |HDCP| NET K % OUT | IN |TOTAL HDCP| NET
o Il H # 35 | 38 73 *| 24 |706* x B i 38 | 40 78 *| 7.2 |70.8*
E OB " OE 37 | 39 76 *| 24 |736* A= 45 4 | 41 82 *| 96 |724*
X W® B = M | 42 83 *| 96 |734* HIG = 42 | 42 84 *| 72 |768*
2 &% — B 46 | 40 86 *| 96 |764* g A 5 46 | 41 87 *| 84 |786
M F O E B 42 | 44 86 *| 120 |74.0* X #H £ ¥ 44 | 43 87 *| 120 |75.0*
b I R | B 7 43 | 46 89 *| 180 |71.0* 2 b T 44 | 43 87 *| 108 |76.2*
OBk # B 53..| 46 99 | 216|774 B £ E 5h 43 | 44 87 |.84 |786*
TOTAL | JEfZ | TOTAL| NET TOTAL | JEfL | TOTAL | NET
) T4
496 8 (4454 4 505 11 (4472 6
K 4 OUT| IN |TOTAL HDCP| NET K % OUT | IN |TOTAL HDCP| NET
® B B & 40 | 38 78 *| 24 |756* 8 % = 38 | 36 74 *| 24 |716*
“ W fa & 38 | 41 79 *| 36 |754% " E E §A 39 | 39 78 *| 6.0 |720*
K R X 42 | 40 82 *| 108 |71.2* #HH E A X 38 | 45 83 *| 96 |734*
B H ZE — 42 | 40 82 *| 6.0 |76.0* # W = 42 | 45 87 *| 120 |75.0*
woo#® % 41 | 43 84 *| 10.8 |73.2* 8 # b 46 | 45 91 *| 96 |81.4
B B ® - 44 | 47 91 *| 144 |766 X & B = 48 | 44 92 *| 12.0 |80.0*
E B £ = 47 | 45 92 | 18.0 |74.0%* 7/ A > SR = (3 48 | 50 98 | 228 |75.2*
TOTAL | JBRL | TOTAL | NET TOTAL | JEff | TOTAL | NET
=iRiR k|
502 9 1446.2| 5 513 12 1448.2| 9
K 4 OUT| IN |TOTAL [HDCP| NET K 4 OUT | IN |TOTAL [HDCP| NET
A A 41 | 39 80 *| 7.2 |72.8* r ® B 7 41 | 40 81 *| 7.2 [738*
B OB M = 42 | 39 81 *| 7.2 |73.8* R &K 5 — 43 | 40 83 *| 84 |746*
F OB E a1 | M 82 *| 84 |736* Mm B — X 45 | 42 87 *| 10.8 |76.2*
X E B = 43 | 43 86 *| 8.4 |716% H # B & 44 | 43 87 *| 132 |738*
7 A & B 40 | 46 86 *| 84 |716 K EF Z2 OB 39 | 48 87 *| 13.2 |73.8*
F A 45 | 42 87 *| 144 |726* X B 5 44 | 44 88 *| 120 |76.0*
m #® B =B 45 | 44 89 | 132 |758* + B ® i# 49 | 42 91 | 132|718
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B H: 2020411 H16H HiEH
& B FEAVN)—257 6,960 Yard Par 72

W wE#

TOTAL | JBfE | TOTAL | NET TOTAL | JBZ | TOTAL| NET
BASLL Bt
513 13 14478 7 530 16 4544 13
K 4 OUT | IN |TOTAL|HDCP| NET E 4 OUT| IN |TOTAL HDCP| NET
= ® ®B B 43 | 40 | 83*| 96 |734*| |= H F E 38 | 44 | 82%*| 72 |748*
Fy Hw E #H 46 | 39 85 *| 6.0 [79.0 2 B X # 41 | M 82 *| 48 |77.2*
& M E = 40 | 45 85 *| 96 |754* # KX B (= 41 | 42 83 *| 6.0 |77.0*
X & & B 41 | 45 86 *| 12.0 |740* X B W d 47 | 45 92 *| 18.0 |740*
t B 5§ &3 & 43 | 44 87 *| 108 |76.2* F OB KX 50 | 45 95 *| 180 |77.0*
H B B X 42 | 45 87 *| 132 |73.8* 2 W A 47 | 49 96 *| 216 |744*
72 % B =B 47 | 46 93 | 18.0 |750*
TOTAL | JEfI | TOTAL| NET
BBEA I
520 14 [451.8 12
K % OUT | IN |TOTAL|HDCP| NET
= B W - 39 | 43 82 *| 84 |736*
fm #=m E 7 44 | 41 85 *| 120 |73.0*
*r &£ #® = 44 | 43 87 *| 96 |774
MNooO b 45 | 42 87 *| 108 |76.2*
X #H 8B = 44 | 44 88 *| 120 |76.0*
BmOE E 1T 46 | 45 91 *| 144 |76.6*
W T # & 46 | 46 92 | 156 |76.4%*
TOTAL | JBfif | TOTAL| NET
A
527 15 (4514 11
K £ OUT | IN |TOTAL |HDCP| NET
W x 5 38 | 44 82 *| 6.0 |76.0*
*k #% M = 4 | M 82 *| 6.0 |760*
B F A 40 | 44 84 *| 84 |756*
E H E 1B 45 | 42 87 *| 144 |726*
E oW OB O O# 46 | 49 95 *| 204 |74.6*
E B B f{# 51 | 46 97 *| 204 |766*




